5. AR T T ARNEIN SRR (KT, 1A01-16)

XS SE = ZE(%)
(ppm) EAE EHE SD. CV.(%
KE 0.2 109 108 114 109 5.5 5.0
0.008 104 102 110 105 4.2 4.0
KEEKRE 0.2 94 93 90 92 2.1 2.3
0.008 106 106 113 108 4.0 3.7
BEK 0.04 78 80 80 79 1.2 1.5
0.002 84 82 91 86 4.7 5.5
B 0.2 109 104 106 106 2.5 2.4
0.008 97 88 93 93 4.5 4.8
Ex] 0.2 93 91 93 92 1.2 1.3
0.008 90 94 94 93 2.3 2.5
5E 0.2 91 102 96 96 5.5 5.7
0.008 90 86 78 85 6.1 7.2
FEEEER 0.04 109 113 110 111 2.1 1.9
0.002 117 119 110 115 4.7 4.1
3 6. 3-keto WART I ERINEINAE: (KE, IA01-16)
st wInE ENZE(%)
(ppm) ESHIE YHE SD. CV.(%)
x= 0.2 118 118 102 113 9.2 8.1
0.008 110 100 117 109 8.5 7.8
KEEKE 0.2 88 84 82 85 3.1 3.6
0.008 104 105 99 103 3.2 3.1
BiEK 0.04 104 106 105 105 1.0 1.0
0.002 92 104 105 100 7.2 7.2
B 0.2 88 86 80 85 4.2 49
0.008 80 85 89 85 4.5 5.8
N 0.2 71 71 77 73 3.5 4.8
0.008 84 85 84 84 0.6 0.7
TE 0.2 83 72 70 75 7.0 9.3
0.008 79 75 81 78 3.1 4.0
FEERER 0.04 87 85 80 84 3.6 4.3
0.002 97 95 97 96 1.2 1.3
=17 3-OH-I/)VA 75 FNEINERER (K5, IA01-16)
B wnE B[ ZE (%)
(ppm) EHE EHfE S.D. C.V.(%)
N 0.2 95 86 81 87 7.1 8.2
0.01 115 116 117 116 1.0 - 0.9
KERERE 0.2 85 79 88 84 4.6 5.5
0.01 115 117 116 116 1.0 0.9
BiEK 0.04 108 107 108 108 0.6 0.6
0.002 81 82 82 82 0.6 0.7
B 0.2 91 90 a0 90 0.6 0.7
0.01 96 84 81 87 7.9 9.1
=x:] 0.2 101 99 102 101 1.5 1.5
0.01 97 106 106 103 5.2 5.0
5iE 0.2 92 89 88 90 2.1 2.3
0.01 116 117 116 116 0.6 0.5
FEERER 0.04 112 104 100 105 6.1 5.8
0.002 94 93 100 96 3.8 4.0
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% 8. WNARTIUERMEINEER (&, NDO1-7)
e winE B E(%)
(ppm) ESETE EHE  SD. CV.(%)
= 0.2 100 101 98 100 1.5 1.5
0.01 100 98 94 97 3.1 3.2
60 % B8y 0.2 95 100 99 98 2.6 2.7
0.01 112 111 115 118 2.1 1.9
R 0.008 103 105 109 106 3.1 2.9
KSTE 0.4 111 116 117 115 3.2 2.8
0.02 112 105 114 110 4.7 4.3
INETE 0.4 119 117 117 118 1.2 1.0
0.02 110 105 110 108 2.9 2.7
- PaNs 0.008 110 106 112 109 3.1 2.8
E (S 0.2 109 107 110 109 1.5 1.4
0.008 111 116 112 113 2.6 2.3
S5EAE 0.008 85 90 92 89 3.6 4.0
REEFE 0.2 104 102 104 103 1.2 1.2
0.008 111 111 101 108 5.8 5.4
= 8. 3-keto WNVATZUEMEINEER (/3, NDO1-7)
o WINE (5[0 (%)
(ppm) =HIE FHEE SD. CV.(%)
¥E 0.2 75 78 75 78 1.7 2.2
0.01 79 82 79 80 1.7 2.1
60 % 2453 0.2 88 86 73 82 8.1 9.9
0.01 89 88 78 85 6.1 7.2
) 0.008 73 71 75 73 2.0 2.7
RETE 0.4 84 101 94 93 8.5 9.1
0.02 117 116 118 117 1.0 0.9
INEBTE 0.4 104 110 113 108 4.6 4.2
0.02 107 120 113 . 118 6.5 5.8
HS 0.008 108 106 108 104 1.7 1.6
B (&) 0.2 117 117 115 118 1.2 1.0
0.008 104 93 86 94 9.1 9.7
5EALE 0.008 101 109 96 102 6.6 6.5
HFEE 0.2 84 87 92 88 4.0 4.5
0.008 108 117 112 112 4.5 4.0
= 10. 3-QH-A/NA7T7 FMEINERE (N3, AR01-1)
ek wInE (BT (%)
(ppm) EHEME EHE  SD. CV.(%)
= 0.2 73 73 81 76 4.6 6.1
0.01 80 72 85 79 6.6 8.4
60%En 0.20 83 87 85 88 6.1 6.9
0.01 116 116 118 117 1.2 1.0
o) 0.2 115 113 109 112 3.1 2.8
0.01 73 73 74 73 0.6 0.8
RE&ETE 0.2 118 118 118 118 0.6 0.5 -
0.01 75 76 74 75 1.0 1.3
INEBTE 0.2 81 79 85 82 3.1 3.8
0.01 116 118 117 117 1.0 0.9
B 0.01 114 117 110 114 3.5 3.1
BV (&R 0.2 116 117 118 117 1.0 0.9
0.01 107 112 105 108 3.6 3.3
HELE 0.01 113 112 108 111 2.6 2.3
hEEFFE 0.2 a5 81 83 86 7.6 8.8
0.01 110 98 94 100 8.7 8.7
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& 117V AEINENEER (KT s}
ST v winE B Z=(%)
v (ppm) EEE EBE SD. CV.(%)
JUhPA(CL) KB 0.5 71 71 70 71 0.6 0.8
0.01 71 70 70 70 0.6 0.9
KEEKRE 0.4 72 71 70 71 1.0 1.4
0.01 71 70 70 70 0.6 0.9
BiEK 0.25 72 70 70 71 1.2 1.7
0.01 84 81 80 82 2.1 2.6
Bk 04 79 77 76 77 1.5 1.9
0.01 76 72 71 73 2.6 3.6
=53 0.01 78 71 70 71 1.5 2.1
& 0.4 75 75 71 74 2.3 3.1
0.01 75 74 71 73 2.1 2.9
FEEEER 04 72 71 70 71 1.0 1.4
0.01 79 79 77 78 1.2 1.5
CLSO, RE 0.5 76 75 75 75 0.6 0.8
0.01 73 72 70 72 1.5 2.1
KEEKRE 0.4 81 79 77 79 2.0 2.5
0.01 80 78 75 78 2.5 3.2
BEK 0.01 84 79 76 80 4.0 5.0
Bb 0.01 87 85 82 85 2.5 2.9
=k} 0.01 84 78 75 79 4.6 5.8
HE 0.01 82 74 73 76 4.9 6.4
FEEEENR 0.01 74 73 72 73 1.0 1.4
CLSO Nl 0.5 83 80 70 78 6.8 8.7
0.01 85 79 73 79 6.0 7.6
KEEKRE 0.4 83 80 70 78 6.8 8.7
0.01 83 75 73 77 5.3 6.9
BEK 0.01 86 81 78 82 4.0 4.9
Bhb 0.01 82 81 78 80 2.1 2.6
=3 0.01 77 73 70 73 3.5 4.8
B5iE 0.01 83 77 75 78 4.2 5.4
FEEEER 0.01 80 73 73 75 4.0 5.3
PRI EAARES TR DR R e (B S 1D 51H
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= 12. A7 =AU L —NENEINEE (KB, IA0L)
=t W= Bl (%)
(ppm) S HE  SD. C.V.(%)
KE 0.25 91 88 a2 90 2.1 2.3
0.01 96 96 96 96 0.0 0.0
KEERKE 0.25 94 83 88 88 5.5 6.3
0.01 89 90 86 88 2.1 2.4
BiEK 0.1 101 101 104 102 1.7 1.7
0.002 104 101 108 103 1.5 1.5
B 0.25 91 93 93 92 1.2 1.3
0.01 98 99 95 97 2.1 2.2
GE S 0.25 94 89 90 91 2.6 2.9
0.01 107 105 102 105 2.5 2.4
T5E 0.25 101 93 88 94 6.6 7.0
0.01 106 103 108 106 2.5 2.4
JEEEE 0.1 87 91 89 89 2.0 2.2
0.002 108 100 101 103 4.4 4.3

=18, wIFAUEMEIEE (k)

Fopk WINE B (%)
(ppm) SHME SEEE  SD. CV.(%)
B S 0.2 83 82 75 80 44 5.5
0.01 91 89 85 88 3.1 3.5
H2K 0.01 91 91 85 89 3.5 3.9
o 2.0 79 75 71 75 4.0 5.3
0.1 89 82 80 84 4.7 5.6
THKEEH 0.002 89 84 77 83 6.0 7.2
BXEEH 04 84 75 74 78 5.5 7.1
0.002 80 79 77 79 1.5 1.9
WERZH  0.005 91 89 88 89 1.5 1.7
RERESK 0.1 87 79 73 80 7.0 8.8
0.005 79 77 73 76 3.1 4.1

VR IZEENHEESITHESORRE R (EEFEHE) LV5H
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= 14. v BT RMEREER £, AROL)

o g BT 22 (%)
(ppm) EHIE FHE SD. CV.(%)
573 1 84 86 86 85 1.2 1.4
0.05 82 88 83 84 3.2 3.8
= 15 B 7 RINEINEE (1, NDO1)
BBt WnE [ 2 (%)
(ppm) EHE FHE SD. CV.(%)
= 1 88 86 94 89 4.2 4.7
0.05 79 73 75 76 3.1 4.1
60%ELKy 1 75 75 77 76 1.2 1.6
0.05 90 86 95 90 45 5.0
o 0.05 101 116 102 106 8.4 7.9
ReET=E 1 82 76 79 79 3.0 3.8
0.05 94 85 85 88 5.2 5.9
INeTE 0.05 95 105 99 100 5.0 5.0
B (B0%ENS) 1 79 86 90 85 5.6 6.6
0.05 75 75 72 74 1.7 2.3
BV (&R 1 85 86 88 86 1.5 1.7
0.05 72 72 71 72 0.6 0.8
FEAE 0.05 71 71 76 73 2.9 4.0
PEE 1 83 77 83 81 3.5 4.3
0.05 86 83 84 84 1.5 1.8
5< 16. ETUZ BANEINERER (€, ARO1)
opt W& B 2=(%)
(ppm) EHIE EHE SD. CV.(%)
S S 0.5 92 92 96 93 2.3 2.5
0.01 71 71 77 73 3.5 4.8
= 1T ETURMEIRZRR (b, NDO1)
BBk WiInE B 2R (%)
(ppm) EEE EHE SD. CV.(%)
= 0.5 85 .85 77 82 4.6 5.6
0.01 81 75 71 76 5.0 6.6
B80% HLks 0.5 89 75 83 82 7.0 8.5
0.01 79 84 70 78 7.1 9.1
K 0.01 78 72 73 74 3.2 4.3
KEBTE 0.5 78 89 90 86 6.7 7.8
0.01 104 101 105 103 2.1 2.0
IhNeTE 0.01 85 73 77 78 6.1 7.8
B (60%E) 0.5 96 95 91 94 2.6 2.8
0.01 74 71 80 75 4.6 6.1
B (ER) 05 96 89 99 95 5.1 54
0.01 75 75 76 75 0.6 0.8
HSE A 0.01 88 80 81 83 4.4 5.3
REEEE 0.5 88 87 91 89 2.1 2.4
0.01 74 77 74 75 1.7 2.3
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#£ 18. ARPONTHBILBIEHARBOLREE

(BINRTFL)
RERLEAT ARO1 ARO1 CAO01 CAO01
Plot 2 Plot 3 Plot 5 Plot 6
(6X) (1% (6%) (1X)
Sl 4 (g or mL)
T 540 - 540
=S 479 485 -
e 61.6 53.4 -
Ik 300 300
KPEZK 334 370
LT 1320 * * 1320 7 *
Zk 162 148 -
TRBE K 180 180 : -
RER Z 401 401 -
=5 S 300 300
IKEEE 2K 332 314
BHkEEH 1320 * * 1310 % -F
=B 163 172 -
Ve =N 180 180 -
BRER B 2K 335 340 -
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F19. RERABOMN THBICST A5 S B 0sREE

(BNRTZ)

ARG AT ARO02 ARO2 IAQ1 T1A01

XE  Plot i4 Plot 15 Plot 17 Plot 18

(1x) (6X) (1x) (5X)

B4 (g or mL") '

RS NE) 200 200 200 200

KEERE 475 475 429 430
BiEK 720 * 710" 780 * 760 *

iy = 122 122 135 135

KEEKRE 290 290 290 - 290

Bb 289 276 310 304
=E) 840 * 870 * 830 % 830 *

HERE 102 98 114 114

KEERE 242 233 245 245

EE8 700 700 700 700

=8 220 214 200 243
FEEEER 460 * 450 % 470 * 440 *
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= 20, NEEFOMIHRBICBIIASHARBOEREE

(INRTF)

R G BT NDO1 NDO1 MOO01 MOO01
BXTH| Plot 8 Plot 9 Plot 11 Plot 12
(6X) 1x) (6X) (1x)

B (g) (g)
L= 5150 5087 5159 5112
60%ELH 2993 2992 2956 2904
REY 202 272 309 457
KESTF 1008 974 1266 1168
NS 785 749 396 311
5% 482 476 489 493
600/*”%\ 280 280 280 280
B 470 465 465 463
= 280 280 280 280
B (SR 438 442 444 448
B 344 340 349 352
60%ELK, 200 200 200 200
HE A 296 297 289 297
%= 344 340 349 352
60%EL 200 200 200 200
shEEER 282 284 285 284
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21, qui—ztﬂ@ﬂuI‘%Jﬁﬁ&:m%%ﬁiﬁiﬁﬂwéﬁiié
AN
RERLEFT ARO02 ARO2 IAO01 1A01
XHE  Plot 14 Plot 15 Plot 17 Plot 18
(1xX) (6X) 1x) (6X)
BB (gor mL")
LA NG 200 200 200 200
KEBRERE 466 471 423 428
BiEk 7207 720 * 770 * 765 *
-y N =] 124 123 137 136
KEERE 290 290 290 290
Bb 275 294 300 300
EE) 850 * 850 * 845 * 855 *
RN 103 101 113 111
KEEKRD 239 239 240 237
53 700 700 700 700
gk 231 218 221 238
FEEEE K 420 * 465 * 480 * 4207




= 22. RERBOMIHERICBIIAS MNP OERES

(AT =3 L — ML)

RERIEAT AR02 TIAO01 1A01

X®& Plot 14 Plot 15 Plot 17 Plot 18

(6X) (X (6X)

ESiga (g or mL")

Ay N 200 200 200

KEEKRE 469 427 426
EiEK 720 * 760 * 770 *

=y = 124 138 136

KEEKRE 290 290 290

Bhb 283 304 296
=3 855 * 850 * 850 *

iy =) 101 112 112

KFEEKRE 237 239 239

N 700 700 700

=8 - 218 222 259
JEEEE R 465 * 465~ 430 *
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% 23. %?ﬁ%}@ﬂﬂléﬁﬁé:z‘ao#é%ﬁéﬁﬁﬂ@éﬁi—sﬁ:
(FFFZ 40
FABREEFT ARO1 ARO1 CAO1 CAO1
i Plot 2 Plot 3 Plot 5 Plot 6
(6X) (1x) (6X) (1x)
PR (gormL")
K 540 540 540 540
=P 483 476 487 474
HE 52.3 61.6 50.8 63.9
R/ S 300 300 300 300
KB 334 334 333 339
THKEEH 1300 * 1310° 1300 1310 F
LK 162 162 162 159
ViR 180 180 180 180
IRERZ K 402 410 416 416
=P 300 300 300 300
REEE K 332 333 342 346
HkEET- 1310 * 1300 * 1300 1300 *
=P S 163 162 158 156
KEEE 180 180 180 180
RER 2K 337 344 343 330
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= 24 DEREBONIRBICR TS HRBABOEREE

(=B

R ET NDO1 NDO1 MOO01 MOO1
EYE) Plot 8 Plot 9 Plot 11 Plot 12
(6X) (1X) (6X) (1X)

BN e (g (2
Z= 5150 5087 5159 5112
60%ELES 2993 2992 2856 2904
FRAD 202 272 309 457
KE&ETE 1008 974 1266 1168
INSTE 785 749 396 311
A 482 482 482 482
60% 2Ly 280 280 280 280
=T 470 471 467 476
L= 280 280 280 280
B (Ehry) 438 4492 448 439
“E 344 344 344 344
60%ELES 200 200 200 200
58 A 298 298 298 299
Y= 344 344 344 344
60%ELH 200 200 200 200
thEESR 287 285 284 284
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& 25. INVIR 7T 554k B

CREEL

RERMms = S HT{E (ppm) CV.(%) /&
EHIE EHE S.D.

AROIEEALE  TE <0.005  <0.005 <0.005 <0.005 - <0.01

Plot 1 =PS <0.0056 <0.005 <0.005 <0.005 - <0.01

i <0.02 <0.02 <0.02 <0.02 - <0.04

TRBE LK <0.005 <0.005 <0.005 <0.005 - <0.01

IKFEE K <0.005 <0.005 <0.005 <0.005 - <0.01

LAREEH <0.001  <0.001 <0.001 <0001 - <0.002

F2KREEH <0.001  <0.001 <0.001  <0.001 - <0.002

HRER K <0.003  <0.003 <0.003 <0.003 <0.006

SRR oK <0.003  <0.003 <0.003 <0.003 - - <0.006

ARO1-Plot2 % 0.014 0.013 0.014 0.014 0.0006 4.3 0.03

(6X) =PS <0.005 <0.005 <0.005 <0.005 - - 0.01

#E 0.07 0.07 0.07 0.07 0.000 0.0 0.14

KBEE K 0.007 0.007 0.007 0.007 0.0000 0.0 0.01

KBEE K <0.005  <0.005 <0.005 <0.005 - - <0.01

LALEH <0001  <0.001 <0001 <0.001 - 0.006

EKEEH <0.001  <0.001 <0.001  <0.001 <0.002

IRAR Tk <0.003  <0.003 <0.003 <0.003 <0.006

IRER 2K <0.003  <0.003 <0.003 <0.003 - - <0.006

AR(Ol}glotB E7% S <0.005  <0.005  <0.005 <0.005 <0.01
1

CAOIHEME TH <0.005 <0.005 <0.005 <0.005 - <0.01
Plot4

CAO01-Plots  %H¥, 0.092 0.085 0.090 0.089 0.0036 4.0 0.16

(6X) SBS 0.034 0.034 0.033 0.034 0.0006 1.8 0.07

3 0.58 0.67 0.68 0.64 0.055 8.6 1.10

TKPEZ K 0.060 0.062 0.064 0.062 0.0020 3.2 0.09

VS A= S 0.015 0.017 0.016 0.016 0.0010 6.3 0.03

THKEET 0.004 0.004 0.004 0.004 0.0000 0.0 0.015

HXEEH 0.003 0.003 0.003 0.003 0.0000 0.0 0.007

HRER K <0.003 <0.003 <0.003 <0.003 - - <0.006

IRER B 2K <0.003  <0.003 <0.003 <0.003 <0.006

CAéJl-flotG ZK <0.005  <0.005 <0.005 <0.005 - - <0.01
1X

BB (E: CF+ (3-keto-CF X 0.94) + (3-OH-CFx0.93), # MBS : CF+(3-OH-CF X 0.93)
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$226. 3-keto- WNVIRT T o iTiE B CREEl

Ny e =W = SHFE (ppm) CV.(%) CF"
EHE EHHE S.D.

AROIEME LXK <0.005 <0.006 <0.005 <0.005 - <0.005
=5/ S <0.005 <0.005 <0.005 <0.005 <0.005
i3 <0.02 <0.02 <0.02 <0.02 . <0.02
el N <0.005 <0.005 <0.005 <0.005 - <0.005
IS A=P S <0.005 <0.005 <0.006 <0.005 <0.005
TOREEH <0.001 <0.001  <0.001  <0.001 <0.001
BHAEEH  <0.001 <0.001 <0.001  <0.001 - <0.001
IRER K <0.008  <0.003 <0.003 <0.003 - - <0.003
REREK <0.003 <0.008 <0.008 <0.003 <0.003

AROI-Plot2 %K <0.005  <0.005 <0.005 <0.005 <0.005

(6X) % <0.005 <0.005 <0.005 <0.005 <0.005
b3 <0.02 <0.02 <0.02 <0.02 - <0.02
KK <0.01 <0.01 <0.01 <0.01 <0.01
VST H=P S <0.01 <0.01 <0.01 <0.01 - - <0.01
TREEH  <0.001 <0.001  <0.001  <0.001 <0.001
BHXEEH <0.001 <0.001 <0.001 <0.001 - <0.001
RER Z <0.003  <0.003 <0.003  <0.003 . <0.003
RER =K <0.008 <0.003 <0.003 <0.003 - <0.003

AR?1-§’1ot3 2K <0.005  <0.006 <0.005 <0.005 <0.005

1X

CAOIEALE LK <0.005 <0.005 <0.005 <0.005 <0.005

Plot4

CAO1-Plots 3K <0.005  <0.005 <0.005  <0.005 <0.005

(6X) EBS <0.0056  <0.005  <0.005 <0.005 - <0.005
% <0.02 <0.02 <0.02 <0.02 <0.02

KB ZH <0.005 <0.005 <0.005 <0.005 <0.005

FKPEEE <0.005 <0.005 <0.005 <0.005 - <0.005

LKEEH <0.001  <0.001 <0.001  <0.001 <0.001

HAKEEH <0001  <0.001 <0.001 <0.001 <0.001

AR K <0.003  <0.003 <0.003 <0.003 - <0.003

FRER B K <0.003 <0.003 <0.003 <0.003 - <0.003

CAOI-Plote 2K <0.005 <0.005 <0.005 <0.005 - <0.005

(1X)

B : 3-keto-CF X 0.94
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R 27. 3-OH- IR T T 548 (REtE)

HEizEs 2B FHTE (ppm) C.V.(%) CF"
ESE EHIE S.D.

AROIEALFE 3K <0.005 <0.005 <0.005 <0.005 - - <0.005
=P <0.005 <0.005 <0.005 <0.005 - <0.005
b3 <0.02 <0.02 <0.02 <0.02 - <0.02
Vi) TR S <0.005 <0.005 <0.005 <0.005 - - <0.005
IKBEE K <0.005 <0.005 <0.005 <0.005 - <0.005
ZKEEH <0001  <0.001 <0.001 <0.001 - - <0.001
BAEEM  <0.001  <0.001 <0.001 <0.001 <0.001
iR 2k <0.003  <0.003 <0.003 <0.003 - <0.003
AR B2k <0.003  <0.008 <0.003  <0.003 - - <0.003

ARO1-Plot2 %3 0.013 0.012 0.012 0.012 0.0006 5.0 0.011

(6X) =P 0.007 0.006 0.007 0.007 0.0006 8.6 0.007
i3 0.07 0.07 0.07 0.07 0.000 0.0 0.07
ViR S 0.007 0.007 0.007 0.007 0.0000 0.0 0.007
ViRV H=F S <0.005 <0.005 <0.005 <0.005 - - <0.005
LHEEH 0.006 0.006 0.006 0.006 0.0000 0.0 0.006
HKEEH 0.001 0.001 0.001 0.001 0.0000 0.0 0.001
HRBR 2k <0.003  <0.003 <0.008 <0.003 - - <0.003
SRER B 2K <0.003  <0.003 <0.003 <0.003 - <0.003

AR(Ol-%DlotB ok <0.005  <0.005  <0.005  <0.005 - <0.005

1X

CAO1EEMEE L3 <0.005 <0.005 <0.006 <0.005 - <0.005

Plot4

CAQ01-Plots %K 0.077 0.080 0.077 0.078 0.0017 2.2 0.073

(6X) B2k 0.034 0.034 0.034 0.034 0.0000 0.0 0.032
b3 ‘ 0.49 0.48 0.49 0.49 0.006 1.2 0.46
KBk 0.029 0.028 0.032 0.030 0.0021 7.0 0.028
KEE 0.010 0.010 0.009 0.010 0.0006 6.0 0.008
FREEH 0.011 0.012 0.012 0.012 0.0006 5.0 0.011
HAEEH 0.004 0.004 0.004 0.004 0.0000 0.0 0.004
RER T2k <0.003  <0.003 <0.003 <0.003 - - <0.003
RER K <0.003  <0.003 <0.003 <0.003 - - <0.003
CAO01-Plot6 %K <0.005  <0.005 <0.005  <0.005 <0.005

(1X)

"HAE{E:3-OH-CF X 0.93
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5?‘28.;b/Vﬁ{7iﬂ/§}®?%§5%(jqzzgi%})

SR s 2B SHHE (ppm) CV.(%) HE
EHEHE EEIE SD.

ARO2EME K= <0.004 <0.004 <0.004 <0.004 - <0.009
Plot13

AR02-Plotld Ko <0.004 <0.004 ~ <0.004 ~ <0.004 - <0.009

(1X) KEERE <0.004 <0.004 <0.004 <0.004 <0.009

BEK <0.001  <0.001 <0.001 <0.001 - <0.002

Brb <0.004 <0.004 <0.004  <0.004 <0.009

5¥ <0.004 <0.004 <0.004 <0.004 <0.009

58 <0.004 <0.004 <0.004 <0.004 <0.009

FEEER <0.001 <0.001 <0.001  <0.001 - - <0.002

AR02-Plotls K& 0.086 0.081 0.080 0.082 0.0032 39 0.099

(5%) KEFEKRE 0.019 0.019 0.019 0.019 0.0000 0.0 0.028

BiEK <0.001  <0.001 <0.001 <0.001 - - 0.002

Bb <0.004 <0.004 <0.004 <0.004 <0.009

=x) <0.004 <0.004 <0.004 <0.004 - - <0.009

5E 0.006 0.006 0.006 0.006 0.0000 0.0 <0.009

FEEE 0.003 0.003 0.003 0.003 0.0000 0.0 0.003

IAO1EAE KT <0.004 <0.004 <0.004 <0.004 - - <0.009

Plotl16 KEEKRKE <0.004  <0.004 <0.004  <0.004 - - <0.009

EEK <0.001  <0.001 <0.001 <0.001 <0.002

Bb <0.004 <0.004 <0.004 <0.004 <0.009

24 <0.004 <0.004 <0.004 <0.004 - - <0.009

5E <0.004 <0.004 <0.004 <0.004 <0.009

FEEEE T <0.001 <0.001 <0.001  <0.001 <0.002

IA01-Plotl7 K& <0.004  <0.004 ~<0.004 " <0.004 0.009

(1% KEEKE <0.004 <0.004 <0.004  <0.004 - <0.009

BEK <0.001 <0.001 <0.001  <0.001 <0.002

Bhb <0.004 <0.004 <0.004 <0.004 <0.009

T <0.004 <0.004 <0.004 <0.004 <0.009

& <0.004 <0.004 <0.004  <0.004 <0.009

JEERE R <0.001 <0.001 <0.001 <0.001 - - <0.002

IA01-Plotl8 XK= 0.095 0.087 0.092 0.091 0.0040 44 0.182

(6X) KEEKRE 0.042 0.042 0.042 0.042 0.0000 0.0 0.073

BiEK 0.005 0.005 0.005 0.005 0.0000 0.0 0.010

B2b 0.007 0.007 0.007 0.007 0.0000 0.0 <0.009

ZE 0.006 0.006 0.006 0.006 0.0000 0.0 <0.009

e 0.009 0.009 0.009 0.009 0.0000 0.0 0.009

JEEEER 0.004 0.005 0.004 0.004 0.0006 15.0 0.006

HUE{E: CF+(3-keto-CF X 0.94) + (3-OH-CF X 0.93), #HBF : CF+(3-0H-CF X 0.93)
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3= 29. 8-keto- VAR T TR (KT stk

HEHEE =2 SIHTE (ppm) CV.(%) CF"
EHIE EHE S.D.
ARO2EALE KT <0.004 <0.004 <0.004 <0.004 - <0.004
Plot13
AR02-Plotld K5 <0.004  <0.004 ~<0.004 <H604 <0.004
(1x) KEEKRE <0.004 <0.004 <0.004 <0.004 <0.004
BiEK <0.001  <0.001 <0.001 <0.001 - <0.001
BrS <0.004 <0.004 <0.004 <0.004 <0.004
=E8 <0.004 <0.004 <0.004 <0.004 <0.004
Tk <0.004  <0.004 <0.004 <0.004 <0.004
FEEREE R <0.001  <0.001 <0.001 <0.001 . - <0.001
AR02-Plotls KgH 0.006 0.005 0.005 0.005 0.0006 120 0.005
6X) AEEXED <0.004 <0.004 <0.004 <0.004 - - <0.004
BEEK <0.001  <0.001 <0.001 <0.001 <0.001
Bhb <0.004 <0.004 <0.004 <0.004 - - <0.004
=E) <0.004 <0.004 <0.004 <0.004 <0.004
58 <0.004 <0.004 <0.004 <0.004 <0.004
FREEER <0.001  <0.001 <0.001 <0.001 - - <0.001
IAO1EEALE — Xko <0.004 <0.004 <0.004 <0.004 <0.004
Plotl6 KIBEKRE <0.004  <0.004 <0.004 <0.004 <0.004
BEK <0.001  <0.001 <0.001  <0.001 - <0.001
Bhrb <0.004 <0.004 <0.004 <0.004 <0.004
FE, <0.004 <0.004 <0.004 <0.004 <0.004
TE <0.004  <0.004 <0.004 <0.004 <0.004
FEEEEIR <0.001  <0.001 <0.001  <0.001 <0.001
IA01-Plotl7 K& <0.004  <0.004 <0.004 T<H.004 <0.004
(1x) RKIBENRE <0.004 <0.004 <0.004 <0.004 <0.004
Bk <0.001  <0.001 <0.001 <0.001 <0.001
BHE <0.004  <0.004 <0.004 <0.004 <0.004
X8 <0.004 <0.004 <0.004 <0.004 <0.004
5 <0.004 <0.004 <0.004 <0.004 <0.004
FEEEE R <0.001  <0.001 <0.001 <0.001 <0.001
IAO1-Plotl8 K% <0.004  <0.004 <0.004 <(.604 <0.004
(6X) KIBENRE <0.004  <0.004 <0.004 <0.004 - <0.004
BEK <0.001  <0.001 <0.001 <0.001 <0.001
Bb <0.004 <0.004 <0.004 <0.004 <0.004
T <0.004 <0.004 <0.004 <0.004 <0.004
5B <0.004  <0.004 <0.004 <0.004 <0.004
FEEEEIR <0.001  <0.001 <0.001 <0.001 <0.001

HEE : 3-keto-CF X 0.94
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5 30. 3-OH-BNRT T 454w

£ RERED

REBHEs = S3HTE (ppm) CV.(%) CF
EEE EHE SD.

ARO2ENE KT <0.005 <0.005 <0.005 <0.005 - <0.005
Plot1s

AR02-Plotl4 XK= <0.005 <0.005 <0.006 <0.005 - <0.005

1x) KIBERE <0.005 <0.005 <0.005 <0.005 <0.005

BEEK <0.001 <0.001 <0.001 <0.001 - <0.001

Bb <0.005 <0.005 <0.005 <0.005 <0.005

EES <0.005 <0.005 <0.005 <0.005 <0.005

5iE <0.005 <0.005 <0.005 <0.005 <0.005

JEERE R <0.001 <0.001 <0.001  <0.001 - - <0.001

AR02-Plotls K& 0.013 0.013 0.013 0.013 0.0000 0.0 0.012

(6X) KEBEKRE 0.007 0.007 0.007 0.007 0.0000 0.0 0.007

BEiEK 0.002 0.002 0.002 0.002 0.0000 0.0 0.002

B <0.005 <0.005 <0.005 <0.005 - - <0.005

T <0.005 <0.005 <0.005 <0.005 - <0.005

=879 <0.005 <0.005 <0.005 <0.005 - - <0.005

JEEER <0.001 <0.001 <0.001 <0.001 - <0.001

IAOIELE K5 <0.006 <0.005 <0.005 <0.005 - - <0.005

Plot16 KEEKRE <0.005 <0.005 <0.005 <0.005 <0.005

BiEK <0.001 <0.001 <0.001 <0.001 - <0.001

Birb <0.005 <0.005 <0.005 <0.005 <0.005

=E) <0.005 <0.005 <0.005 <0.005 <0.005

=8 <0.005 <0.005 <0.005 <0.005 <0.005

FEEREIR <0.001 <0.001 <0.001 <0.001 - - <0.001

IA01-Plotl7 K& 0.010 0.010 0.010 0.010 0.0000 0.0 0.009

(1x) KEBERE <0.005 <0.005 <0.005 <0.005 - - <0.005

EEK <0.001  <0.001 <0.001 <0.001 <0.001

B <0.005 <0.005 <0.005 <0.005 - <0.005

T35 <0.005 <0.005 <0.005 <0.005 - <0.005

=3 <0.005  <0.005 <0.005  <0.005 - <0.005

FEEEEIR <0.001 <0.001 <0.001 <0.001 - - <0.001

IA01-Plotl8 X& 0.098 0.099 0.097 0.098 0.0010 1.0 0.091

(6X) KEERE 0.033 0.033 0.033 0.033 0.0000 0.0 0.031

BRiEK 0.005 0.005 0.005 0.005 0.0000 0.0 0.005

Bk <0.005 <0.005 <0.005 <0.005 - - <0.005

T35 <0.005 <0.005 <0.005 <0.005 <0.005

EE <0.005 <0.005 <0.005 <0.005 - - <0.005

FEEER 0.002 0.002 0.002 0.002 0.0000 0.0 0.002

“HE{E:3-0OH-CF X 0.93
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R 3L ANRT T DHThE R Uhsstsh

HEHES RHE 5#T{E (ppm) CV.(%) &E&
» EHE SEEIE S.D.

NDO1EMNE L= <0.005 <0.005 <0.005 <0.005 - - <0.01
Plot7 60 % £y <0.005 <0.005 <0.005 <0.005 <0.01
KD <0.004 <0.004 <0.004 <0.004 <0.009

KE&ETE <0.01 <0.01 <0.01 <0.01 <0.02

INSTE <0.01 <0.01 <0.01 <0.01 - <0.02

BN (60%8)  <0.004  <0.004 <0.004  <0.004 - <0.009

B (SR) <0.004 <0.004 <0.004 <0.004 <0.009

SEAE <0.004 <0.004 <0.004 <0.004 <0.009

FREES R <0.004  <0.004 <0.004 <0.004 - - <0.009

NDO1-Plot§8  £= 0.010 0.011 0.011 0.011 0.0006 5.5 0.03
ax) 60% HLE <0.005 <0.005 <0.005 <0.005 - - <0.01
Ky <0.004 <0.004 <0.004 <0.004 - . <0.009

KETE 0.04 0.04 0.05 0.04 0.006 15.0 0.11

NETE <0.01 <0.01 <0.01 <0.01 - - <0.02

B (60%EY)  <0.004  <0.004  <0.004  <0.004 - - <0.009

BN (SR 0.007 0.008 0.008 0.008 0.0006 75 0.081

FEAE <0.004  <0.004 <0.004 <0.004 - - <0.009

FEESE R <0.004 <0.004 <0.004 <0.004 - - <0.009

NDO1-Plotd  %&E 0.058 0.055 0.056 0.056 0.0015 2.7 0.18
(5%) 60%E 0.004 0.004 0.004 0.004 0.0000 0.0 0.01
K 0.005 0.005 0.005 0.005 0.0000 0.0 <0.009

KETE 0.30 0.30 0.31 0.30 0.006 2.0 0.73

heTE 0.06 0.06 0.06 0.06 0.000 0.0 0.10

B (60%EH)  <0.004 <0.004  <0.004  <0.004 - - <0.009

B (SR 0.037 0.039 0.039 0.038 0.0012 3.2 0.062

SEAE <0.004  <0.004 <0.004 <0.004 - - <0.009

FERE <0.004  <0.004 <0.004 <0.004 - <0.009
MOOIEME Z= <0.005 <0.005 <0.005 <0.005 <0.01
Plot10 60% & <0.005 <0.005 <0.005 <0.005 <0.01
K <0.004  <0.004 <0.004 <0.004 - - <0.009
MOO1-Plotil = 0.022 0.023 0.023 0.023 0.0006 2.6 0.05
1x) 60% By <0.005 <0.005 <0.005 <0.005 - - <0.01
= <0.004 <0.004 <0.004 <0.004 - - 0.009

KETE 0.05 0.04 0.04 0.04 0.006 15.0 0.08

INSTE 0.03 0.03 0.03 0.03 0.000 0.0 0.04
B(60%EH)  <0.004  <0.004  <0.004  <0.004 - - <0.009

B (SR <0.004 <0.004 <0.004 <0.004 0.015

SELE <0.004 <0.004 <0.004 <0.004 - - <0.009

RIS <0.004 <0.004 <0.004 <0.004 - - <0.009
MOO01-Plot12 ¥ & 0.119 0.119 0.117 0.118 0.0012 1.0 0.18
(6X) 60% Sy 0.007 0.007 0.007 0.007 0.0000 0.0 0.01
5 0.016 0.016 0.015 0.016 0.0006 3.8 0.029

KETE 0.32 0.30 0.37 0.33 0.036 10.9 0.55

INeTE 0.31 0.31 0.31 0.31 0.000 0.0 0.39

B (60%EE)  0.005 0.005 0.005 0.005 0.0000 0.0 <0.009

BN (2R 0.079 0.079 0.082 0.080 0.0017 2.1 0.115

SEAE 0.006 0.006 0.005 0.006 0.0006 10.0 0.013

HEE 0.006 0.006 0.006 0.006 0.0000 0.0 0.013

HAE(E: CF+ (3-keto-CF X 0.94) + (8-OH-CFX0.93), #HFBR:CF+(3-0H-CFX0.93)



% 32. 8-keto-WNRT T 45HT

FEE (D
Heiixs B2 SHTHE (ppm) CV.(%) CF
EHE EEE SD. :

NDOIEMNE %“ZHE <0.005 <0.005 <0.005 <0.005 - <0.005
Plot7 60% EH <0.005 <0.005 <0.006 <0.005 <0.005
i <0.004 <0.004 <0.004 <0.004 <0.004

KET= <0.01 <0.01 <0.01 <0.01 <0.01

INeTE <0.01 <0.01 <0.01 <0.01 - <0.01

BN (60%EH)  <0.004  <0.004  <0.004  <0.004 - - <0.004

B (SRR <0.004 <0.004 <0.004 <0.004 <0.004

S5EAE <0.004 <0.004 <0.004 <0.004 <0.004

HHEERE R <0.004 <0.004 <0.004 <0.004 <0.004

NDOI-Plot8 = <0.005 <0.005  <0.005  <0.005 <0.005
1x 60% £ <0.005 <0.006 <0.005 <0.005 <0.005
i <0.004 <0.004 <0.004 <0.004 <0.004

KETE <0.01 <0.01 <0.01 <0.01 <0.01

INSTE <0.01 <0.01 <0.01 <0.01 - <0.01

B (60%EH)  <0.004 <0.004  <0.004  <0.004 - - <0.004

B (SR 0.007 0.008 0.008 0.008 0.0006 7.5 0.008

SEAE <0.004 <0.004 <0.004 <0.004 - - <0.004

FHESE R <0.004 <0.004 <0.004 <0.004 - - <0.004

NDO1-Plot9 %= 0.016 0.016 0.015 0.016 0.0006 38 0.015
(6X) 60% &y <0.005 <0.005 <0.005 <0.005 - - <0.005
i1 <0.004 <0.004 <0.004 <0.004 - - <0.004

KETE 0.08 0.08 0.08 0.08 0.000 0.0 0.08

hTE <0.01 <0.01 <0.01 <0.01 - - <0.01

B (60%EH)  <0.004 <0.004  <0.004  <0.004 <0.004

B (SR <0.004 <0.004 <0.004  <0.004 <0.004

HEE <0.004 <0.004 <0.004 <0.004 <0.004

FEEE <0.004 <0.004 <0.004 <0.004 <0.004
MOOIENE L= <0.005 <0.005 <0.005 <0.005 <0.005
Plotl0 60% Bk <0.005 <0.005 <0.005 <0.005 <0.005
D <0.004 <0.004 <0.004 <0.004 <0.004
MOOI-Plotll %= <0.005 <0.005 <0.005  <0.005 <0.005
1x) 60% Ey <0.005 <0.005 <0.005 <0.005 <0.005
R <0.004 <0.004 <0.004 <0.004 <0.004

RKeET= <0.01 <0.01 <0.01 <0.01 <0.01

NETE <0.01 <0.01 <0.01 <0.01 - <0.01

BN (60%EH)  <0.004 <0.004  <0.004  <0.004 <0.004

B (SR <0.004 <0.004 <0.004 <0.004 <0.004

HEANE <0.004 <0.004 <0.004 <0.004 <0.004

HESTE <0.004 <0.004 <0.004 <0.004 <0.004
MOO1-Plotl2 %= <0.005  <0.005  <0.005  <0.005 <0.005
(6X) 60% EL <0.005 <0.005 <0.005 <0.005 - <0.005
K <0.004 <0.004 <0.004 <0.004 <0.004

KETE <0.01 <0.01 <0.01 <0.01 <0.01

hETE <0.01 <0.01 <0.01 <0.01 <0.01

BN (60%E)  <0.004  <0.004  <0.004  <0.004 <0.004

B (R <0.004 <0.004 <0.004 <0.004 - <0.004

SEAE <0.004 <0.004 <0.004  <0.004 <0.004

FEE <0.004 <0.004 <0.004 <0.004 <0.004

"HLE{E : 3-keto-CF X 0.94
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